2019/9/17 23:09 HEH

EAEMFU-18Y v h—1U—452019 HERLBIELIHV—5

AR ] =15 | EHE *FEL =
10:00 | ZFEHAL| 0 — 1 KE
4R0R | £ | FEHL 13:00] #&I |6 — 2 1%
10:00] /I [0 — 4| REHEB
4ATELE] I 13:.00] B8 [1 — 3 |AEE—B
o 1000] &R |5 — 0]|FEHL
= 13:00 | BT 9 — 1 |magz
4A1SHE] T 1000 #WIIFE |1 — 0| 4K
13:00] & [0 — 1 KE
1000 #)IFE [0 — 8| #l
4A208 | £ I 13:00] dtA |0 — 2 |EEAEE
T L NI [0 — 0| BEnEE
+A218 | B 13:00] #R [3 — 0 ZK’E\ESB
s 13:.00| BE [4 — 0 |HBREI
16:00 | BEAPIE| 1 — 4 [AEE—B
o 1000 | HRET|[2 — 2 |[AEE—B
”” 13:00 | FEHAL] 1 — 2 [Enme
SAME] L . 13:.00] ®B&E [3 — 0] &=x
16:00] #&)I |8 — 0 |EEAE%E
1000 /i [0 — 2| XE
SATE|R[ /NI 13.00 | REHEB|[ 0 — 2 |EEAEE
1000 /M1 [0 — 2 |BRET
SA26E| B[ /NI 13.00 |J&AESE—H 1 — 0] 4
10:00 | FEHE| 2 — 4 |BRET
6R1B | | FEHL 13:00 | BEAPIE| 5 — 2 |EEAEE
g jeoe] v jo — 2 #®R
A28 | B 13:00] AFE |1 — 0 47
. 10:00] BE |1 — 3| H
13:00 | KEFEB| 0 — 3 [KEE—B
1200 | BRET|2 — 4] XE
SRA20B| K| A 15:00] #&&R [ 1 — 2 |EEAEE
1000] |4 — of BRNE
SROB B M e[ Fmmd] 1 — 0] ik
9A22H| B| BE | 1400| BHE = RERAEE
sH11B| 8| %I 9:30 @i |4 — 3| KEHRB
10:00 | FEHE| 3 — 1| RIIA
7A20B| | FESAL 13:00 | RRET| 0 — 4| de=X
10:00]  #&)I 1 = 0| XE
i 1300 | AE®EB |3 — 0 [mEnEZ
. 1000 #R [0 — 1 |BRET
SR2BIE| BR oolErE—H5 — 0 [sRnL
1000] /v o — 5] &
s i 13:00] AFE |3 — 1 |EAE%E
10:00] #®I&E [0 — 7 |AEE—B
sRE| + RIS 13:00] kA |2 — 1 |EEAER%E
s |00 FEWA|1 — 2| ER
i 13:00] AE [3 — 0] #&K
98228 H| /MIL_J10:00] /I = EAEE
9F148 | | #IFE [ 1000] B)ITE |1 — O [HEAEE
10:00 | FEFA| 1 — 1| KEHEB
SAISE| K| FEMAL 12:00 |[KEE—B 4 — 2 %
7A318]| k]| FEHI] 1000] #®HR |0 — 1 por)
1000 | F@HEIAL[ 0 — 3 [
7A208| | FEGAL 13:00 AR |1 — 0 |EAR%E
10:00] #WIIFE [0 — 9 |BEnEE
TR2B| B WNE ootk o — 2 #x#Es
N 10:00| #IIFE |1 — 3 |BRET
TAZB|X] RIS 13:00 | EEAEEE| 1 — 1 KE
. 1000 | MRET |1 — 1 |[mEomE
il B 13:00] ®R [3 — 1| B&IE
10:00] #@)I [ 2 — 1 |BEnEE
8RSE | A[ A 13:00] /il [0 — 0] &K
N 1000 /NI |0 — 7 |KEE—B
of1a | B 13:00| KEHFEB|2 — 0| AE
—— 10:00 | FEHIL| 2 — 3 |BAEE
B 13:00] #&@) [4 — 1 %R
10:00 | ZFEHL]| 2 — 2 MM
9R 148 | £ | FEHEAL] 1200 [KEE—H 2 — 1 B
1400] AE [3 — 0] d=x
[ 1300] BE |2 — 1 |mEAEE
i s 16:00 | RET| 0 — 3 [ KEHEB
. 10:00 | %RET — il
SRR\ L) BR holmerE] - FEE--
[ 13.00] mBE — &I
SA2A|A| MR 16:00] #%R — 1%
we | 1300 BB — M
9A20B| B| BA 16:00 | )17 — KERXRB
[ 13.00] BE - AERB
il Bl Bl BT B T —  FE%-B




